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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311247
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213114210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are not true about teaching?

Options :
Analysis and Assessment of Teaching Provide Feedback for Further Improvement m
Teaching Method.
2758 w0 0l DFke S09Y g BEBY DrHBESTR8 Ageca T ety
55213155801.
It Involves Communication Skill.
S S8560 BYres A0
55213155802.

It 1s a Process Not an Act.

B0 &8 HF0o IrED W, &3 BB
-

55213155803.



It is the only means to provide knowledge.

DATDH HOPTY) LoSEIDTIS HBS FEIo
55213155804.

Question Number : 2 Question Id : 55213114211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

According to modern concept of teaching learning process the position of a teacher m the class-
T00M IS
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Options:

A chairperson

.8 efHAe
55213155805.

The Umpire

Tl APBI Q0pdre
55213155806.

One of the member of the group

JBrirod® ws0m
55213155807.

The director of the group

RDeFERS8 B Ham
55213155808.

Question Number : 3 Question Id : 55213114212 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct with regard to relationship between syllabus and
curriculum?

DD (o8 0o o7 (Gerde iy Jomoged) FPDod B3 ($8aRGN

L

Options :

Syllabus 1s a part of curriculum.

DRAD (SHeS Doy (Bee@5E® gerio
552131558009.

Curriculum is a part of Syllabus

DT [Berds DRAD He358° gerio
55213155810.

Syllabus 1s an annexure to curriculum.

DR (FHesrds Doy (Der@SH edhoogo

55213155811.

Curriculum is an annexure to Syllabus

D (Dez@S DAAD (DS edhnogo
55213155812.

Question Number : 4 Question Id : 55213114213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following skills are not a must for present day teacher to adjust effectively with the
classtoom teaching?
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Options :

Knowledge of technology
ok
55213155813.

f

L

&5 Hoeeiio
=

Use of technology in teaching learning

PETgrIIE° FOSBIE DATITo
55213155814.

Knowledge of students' technology based needs
AlnpyeriIisViEsleletlelaTela Ty FoSEH3E urrld uddoe HBoRKo
= =
55213155815.

Mastery of preparing technology based programs

FOS8S uprod Y Eire Sairts’ s
55213155816.

Question Number : 5 Question Id : 55213114214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The students who keep on asking questions in the class should be:

S81186° S5 (BHeEN dohed
=N o

Options :
encouraged to find answer independently

Sradore Sarrrares 5055508 (@88 20D
55213155817. ~ b 2



advised to meet the teacher after the class

SBHS Bo78 &arpRdind) Sodaed
55213155818.

encouraged to continue questioning

BEodSeeR) @PSEromd
55213155819.

advised not to disturb during the lecture
&dHTN0 e’ vwoso SDOITER Kool
55213155820.

otrd

Question Number : 6 Question Id : 55213114215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The depth of any research can be judged by:

e.8 HOES S*d &R Troe ATBoSS)
]

Options :
title of the research.
OGS 403
55213155821.
objectives of the research.
HOSES O
55213155822.

total expenditure on the research.
5838
55213155823.
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duration of the research.

D05 oSt
55213155824. =
Sub-Section Number : 2
Sub-Section Id : 5521311248
Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 55213114216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Method of Research?

Bod TS DO HOI’GI DS o
Options :

Observation

../ (=)
Sdes

55213155825.

Historical

FO(EE)s
55213155826. &

Survey
S
55213155827.

Philosophical

Efﬁf;é
55213155828.

Sub-Section Number : 3

Sub-Section Id : 5521311249



Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213114217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Action research is

it ' s <,
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Options :
An applied research
2.8 ©H0E B0
55213155829.
A research carried out to solve immediate problems
See DR BOHOoSERS B0 VO ES
55213155830.
A longitudinal research
Edsee HOES
55213155831,
Simulative research
SO S PErL DO
55213155832.

Question Number : 9 Question Id : 55213114218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Generalised conclusion on the basis of a sample 1s technically known as:

J L o
2.8 (HBI0TS H0ED0DN oo FoSr

Options :

55213155833.

55213155834.

55213155835.

55213155836.

Question Number : 10 Question Id : 55213114219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Data analysis and interpretation

Soeod DFXes SO o8 TolRh

Parameter mference

Statistical treatment
%oawe “"“c‘i ©:03IBRO

Subjective interpretation

m 5 ,:“ m— .
O SAD TR0

Correct Marks : 2 Wrong Marks : 0

When a research problem is related to heterogeneous population. the most suitable sampling

method 1s;

2.8 doFdrodo JAH ard JoLIBN 8N (@
gl [

Options :

55213155837.

Cluster Sampling

TR h:.-ﬁ't.l'ifom(}



Stratified Sampling

SE8\¢8 (HBSADHK0

0 &

55213155838.

Convenient Sampling

winired [R8Icho
552131558309.

Lottery Method

el D58

[

55213155840.
Sub-Section Number : 4
Sub-Section Id : 5521311250
Question Shuffling Allowed : No

Question Id : 55213114220 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

George Stephenson and his son Robert Stephenson made a tremendous contribution to the
development of railways. George did not mvent the steam locomotive. but he ensured that the
nsights and discoveries. which were beginning fo come together from a variety of sources. were
engineered into a practical machine. In this context. a man of relatively humble origins became one
of the world’s greatest engineers. He was brilliantly pragmatic m ensuring that his son. Robert. was
given all encouragement i assisting the engineering of the early railways.

The passage of time has done nothmng to pale the remarkable achievements of the two Stephensons
(for it is unwise to separate father and son). Their mventive genius was most brilliantly displayed.
probably, during the year 1829-30, but this was surely not the end. They stamped their final mark
on the shape of the locomotive when m 1833 they added a pair of carrying wheels behind the
firebox to produce the first 2-2-2 engine ‘Patentee’. This became a benchmark passenger type in
both France and Great Britain and was built in the Great Britain until 1894. Their final major
contribution was in 1842 when they were the first to provide engines with a link motion valve gear.
This was a fascinating invention, which was so extremely suitable for locomotives that it was still
being used for new construction m the last phase of the great days of steam.
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Sub questions

Question Number : 11 Question Id : 55213114221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0
Both George and Robert Stephenson’s contribution to Railways was

=8 S0 oo VIR BEen TS Feto

Options :

Immense

Waﬁ =F~.u;%l....
55213155841.

Sparse

SLEamr
55213155842.

Outlandish

SANSDR0

55213155843.

Impractical

©I8@ETo R0
55213155844.

Question Number : 12 Question Id : 55213114222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

George in his younger days was a man of

Options :
Wealth

NEVel VA
55213155845.



Hard work only

55213155846. B

Poverty

Fnielcle)
55213155847.

Lowly background

BED Arow VG0 SoTd
55213155848. B

Question Number : 13 Question Id : 55213114223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

George was brilliantly

=5 ‘&uﬁ;:;w% He
Options :
Idealistic
55213155849. Rl S
Foolish

55213155850.



Practical

e300
55213155851.

Selfish

f%vmtﬁa’atﬁacﬁa
55213155852,

Question Number : 14 Question Id : 55213114224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The first 2-2-2 engine ‘Patentee’ became a/ an passenger type in both France and
Great Britam
), 065 Qeofod® 2mtié 2-2-2 abogo DB Pordde B 85055 DoaRe.
Options :
Standard
(ST @R
55213155853.
Enviable
OraD DAY
55213155854.
Routine
SRBTBS
55213155855.

55213155856.



Mundane

Question Number : 15 Question Id : 55213114225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes
Correct Marks : 2 Wrong Marks : 0

In 1842. they were the first to provide engines with a link motion valve gear whichwasa

mvention.

1842 & K;oﬁé;éoéﬁ T8 TiGardre Fmp DS > 18 S0ERQ R Den B0uln Sar
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Options:
Multipurpose
Def ([BEreis=l
55213155857.
Utilitarian
Su@rriso
55213155858.
Multilevel
sapenel ot oy
552131558509. =
Mesmerizing
RdolgemE 5o 87 YoXa)
55213155860.

Sub-Section Number : 5



Sub-Section Id : 5521311251

Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213114226 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The speaker and the listener carry with them certain ideologies, world-views. beliefs. likes and

dishikes whichformthe

35, (%8 500 60d T A pirew,
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Options :
Style
39
55213155861.
Aptitude
Neea s &o
55213155862.
Attitudes
55213155863, =500
Views
:e/ \TIPEN
55213155864.

Question Number : 17 Question Id : 55213114227 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The speaker has to possess adequale of the message that 1s to be transmitted.

5 &R SRl ) \“ 5 Hoow Romofod) #hdod 300 soldennl

Options :

Replies

55213155865.

55213155866.

Reactions

58 ﬁﬁﬁu,
55213155867.

Knowledge

.
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H

55213155868. ~

Question Number : 18 Question Id : 55213114228 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Fluency. clarity and intelligibility of pave the way to effective communication.
598 3020009 ©F NEEE, )38, SEBhen [HepSNosRa gre (HR8eD POEIROD.
Options :
Command
TROD

55213155869.



Channel

Td
55213155870.

Path

o
55213155871.

Expression

w856
55213155872.

Question Number : 19 Question Id : 55213114229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The effective use of consists in selecting appropriate words and patterns of sentences

while comnmnicating,
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Options:
Language
FR
55213155873.
Crrcumstance
Do

55213155874, =



Idioms

néseto
55213155875.

Connectives

NOTRCTRED
55213155876.

Question Number : 20 Question Id : 55213114230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Communication 1s sustained and it becomes effective onlyina/an _ ambience.

dendod J0sTed® ord (K80 Prrddodore sob RlspioeiSvisvolly i etavelal

Options :
Intellectual

L858
55213155877. »

Indrvidual

S
S
55213155878.

Clean

DS
55213155879.

Complex
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55213155880.



Sub-Section Number : 6
Sub-Section Id : 5521311252

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213114231 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A car covers a certam distance with speed 60 kmph and returns to the starting point

with a speed of 40 kmph. The average speed (in kmph) for the whole journey is
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Options :

50
55213155881.
55213155882. e

100
55213155883.

52
55213155884.

Question Number : 22 Question Id : 55213114232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In a certan population, the ratio of number of women to the number of men1s 6 ; 5. If
the average age of the women is 34 years and the average age of the men 15 32 years.
then the average age of the population ( in years) 1s

28 D0 Z2TFS DT D093 HDDO B3 6 1 5. DO HKE SoHD 34
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Options :

321
55213155885.

33
55213155886.

331
55213155887.

335
55213155888.

Question Number : 23 Question Id : 55213114233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ loses 10% by selling an article. If the cost of the article 1s Rs. 15, then the selling

price of the article 1s (in Rs.)

L4 A8

§ Dea)ed) a0 TFIT 10% MaafEc). & odey OR0E) OO &F. 15, 0N

(5]
L=

T.'.E'&I

Whooong - Ly b
2oy Q03] @a1350 OO (OF. )

wd

\E

Options :



13.20

55213155889.

16.50
55213155890.

12.30
55213155891.

13.50
55213155892.

Question Number : 24 Question Id : 55213114234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Tap ‘A’ will fill a tank in 30 minutes, Tap ‘B” will empty the tank in 3 hours and tap

*C" will empty the tank 1n 4 hours. If all the taps are open at the same time. then time

required to fill the tank 1s ( in minutes)

Pt 'A' 30 Qo) ﬁ‘ﬂﬁs eys05 m a)e0A. erte B, 3 nuuﬁf ers08 cw’@.,f SATOTA
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Options :

17/ 720
55213155893.

Pt S B
55213155894.

420/ 17

55213155895.



390/ 17
55213155896.

Question Number : 25 Question Id : 55213114235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence: 6. 27. 128, . 3130
D (E0eS SoDS Hows: 6. 27,128, L 3130
Options:
529
55213155897.
629
55213155898.
729
55213155899.
829
55213155900.

Question Number : 26 Question Id : 55213114236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘PROFESSOR’ 1s coded as ‘KILUVHHLI'. then *‘STUDENT" is coded as
‘PROFESSOR’, ‘KILUVHHLI" 7T §G S ah2308. @y ‘STUDENT’ Gwé), &6



Options :

HGEUVNG
55213155901.

HGEUWNG
55213155902.

HGEFWVMG
55213155903.

HGEWVNG
55213155904.

Question Number : 27 Question Id : 55213114237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘ROCKET" 15 coded as ‘913564"and ‘LITTLE’ coded as ‘024406’ then the code for
"‘CRICKET' 1

'ROCKET', 913564° T §& Dohadod SHdokw 'LITTLE, 024406 I §& Tohadod.
900~ 'CRICKET' 3308), §6

Options :

3943654
55213155905.

39324064
55213155906.

3923564
55213155907.

3923654

55213155908.



Question Number : 28 Question Id : 55213114238 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Pomnting to a person. A said, “He 1s the only brother of my father’s mother’s

daughter”, The relation of the person to A 15

28 588 HoDE, A o), "w Sof O 50570 BE) ~38 FODH". wond @
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Options:
Brother
PCHENCD
552131559009.
Father
0|86
55213155910.
Uncle
232301 / 9%
55213155911.
Nephew
HSeRts / SeandS 0 HIPHE
55213155912.

Question Number : 29 Question Id : 55213114239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

The odd one among the following 1s
808 S D&Y, 28 HOFOIS
Options :

Baseball

ﬁﬁf" iy &
55213155913. .

Boxing

2r8y0h
55213155914,

Chess
5580080
55213155915.

Wrestling
d2oh
55213155916.

Question Number : 30 Question Id : 55213114240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

[

In a cerfain code, “+" mean ‘x’, ‘x’ mean ‘-, ‘~* means /" and /" means ‘+'.
Using these code operators, 16-2+4/16-8x 213

28 A0 ﬁ’r’(ﬁ, '+ 0B 'x'; 'x'®@O® - - @o® '/'; Hbcw
@B "+'. & §6 O &IBP0Y), 16-2+4/16-8x2 WO

Options :

15
55213155917.

55213155918.



2

55213155919.

32
55213155920.
Sub-Section Number : 7
Sub-Section Id : 5521311253
Question Shuffling Allowed : No

Question Id : 55213114241 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

A0S (239700 Q. 31 0B Q 3558 , 308 NrTdo SErdOT G oN.

w

The population, literacy rate, No. of women for 1000 men and percentage of rural
populations of five states are presented m the following table.
D& T 2, ofThd 06, 1000 50O HHO%H DrFe o HOH

3y o
Faom ziwer 760, & 8od S 50800,

States | Population | Literacy | No.of women | % ofrural
Tlfe) | (zaver) | Rate per 1000 men | Population
(Lakhs) | (@8 | (Darde doms | (e 7o

@&o) 6@3] 1000 )000) ATVRAR

A 1500 70% 970 45%

B 2500 61% 951 62%

€ 600 85% 1021 51%

D 400 90% 992 39%

E 850 80% 989 42%

Sub questions

Question Number : 31 Question Id : 55213114242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
Which state has the highest number of illiterate people?
AOSTrAnLe @S QOWMED ) T°ladO

Options :
55213155921.



State A
O° 0 A

State B

0220 B
55213155922,

State C

W,

070 C
55213155923,

State D
7|0 D
55213155924,

Question Number : 32 Question Id : 55213114243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The total Urban population is
HNEBO HEIED BT

Options :

3044
55213155925.

2806
55213155926.

1725

55213155927.



4125
55213155928.

Question Number : 33 Question Id : 55213114244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The number of women population in the state A is ( rounded to integer)

5,

I Wy '-\'6 .- W £ e |
‘A TR0 YO By DODE (SF°Q Do)

Options:

739
55213155929.

761
55213155930.

970
55213155931.

1455
55213155932.

Question Number : 34 Question Id : 55213114245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



The total percentage (nearly) of rural population 1s
B0 |JEd 2y 7o (SHST)

Options :

41
55213155933.

45
55213155934,

52
55213155935.

50
55213155936.

Question Number : 35 Question Id : 55213114246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
On the overall. percentage of literacy rate (nearly) is

B3NS0 N, L Te0s Bew Fho (SHST)

Options :

521
55213155937.

65.3
55213155938.

55213155939.



70.5

55213155940.

Sub-Section Number : 8
Sub-Section Id : 5521311254
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213114247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of'the following is a low level language 9

& (808 &6° 0 Low Level oy ?
C

Options:

Assembly

{-.—aﬁo;;
55213155941.

Java

e
55213155942,

ADA

=0 =

Gt i QL
55213155943.

e

o,

25

55213155944,



Question Number : 37 Question Id : 55213114248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Number of bytes in 1 GB 1s

1 GB &°2 bytes © Jogy,......

Options :

1024TB

1024 &o= Téw
55213155945.

1024 B

1024 Bep
55213155946. -

1024 MB

1024 Jorr 2én
55213155947.

1024 KB

1024 36° Bey
55213155948.

Question Number : 38 Question Id : 55213114249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The full form of MODEM 1s
MODEM D_'JJJE; 6'3%__“51:::

Options :
Modulator and demodulator
Sl Hbukn BSrEBed
55213155949,
Modem mobile
(Tavr]e] E@Qﬁ
55213155950.
Modulator embedded
SrErBed NoB&E
55213155951, =
Moderator demoderator
8008 &SrEDes
55213155952,

Question Number : 39 Question Id : 55213114250 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

.......... are set of rules and procedures to control the data transmission over the internet

2005386 Gir (HFodd T8 Adhdres S0 HEHe Sen....
Options:

IP address

IP &%arad
55213155953.



Domains

DT G@sn)
55213155954,

Protocol

Feo=at
55213155955.

Gateway
55213155956.

Question Number : 40 Question Id : 55213114251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NMEICT stands for

NMEICT esre

Options :
Nation Mission for Education through ICT

- - - - 1
JNS XS PO AByEAD (B 02D

55213155957.
Nation Mission for E-commerce through ICT
JHT DT P8 vzl (@ oS
55213155958. ¥

Nation Mission for E-governance through ICT
AT RS H8 a-rSYN)y (E 0
552131559509. =



Nation Mission for Entertainment through ICT
JET AT $8 2068850t (e 28

55213155960.

Sub-Section Number : 9
Sub-Section Id : 5521311255
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213114252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which agreement set in target of 5% reduction in carbon emissions against 1990 levels?

58)3 smood 1990 &ow So 8 5 wo dNowred eyl Mgawods e.djoto 207

Options :
Paris agreement
arCR e.dfjotio
55213155961.
Stockholm Agreement
5 Trro adolio
55213155962. = g
Kyoto Protocol
5%e3® PSS
o
55213155963.

Berlin Agreement

DO a.D0ko
55213155964. i

on



Question Number : 42 Question Id : 55213114253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The maim gas responsible for ‘climate change’ 1s

Options :

NDJ
55213155965.

CO;

sHhe & &6

= ey

55213155966.

CcO

sE)m PR
55213155967.

NOJ

2B
55213155968.

Question Number : 43 Question Id : 55213114254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Eutrophication of fresh water lakes occur due to

$00DE e CrErHERS AATON athrh
Options :
Addition of excessive organic matter. phosphates. Nitrates
o0 Herdo PR, DS JENSM TsLo
=@ Oy T —— (L
55213155969. L
Addition of only Phosphates
PR SRED Jseo
55213155970.
Addition of rain water
583 A BBeo SO
55213155971.
Drying up of lakes
RDB0en QoberHeo
55213155972.

Question Number : 44 Question Id : 55213114255 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is not a cause of soil pollution?

3 (808 EE° Jo renardd DO 8o S°?

Options:
Pesticides

[orn soothen
55213155973.



Fertilizers

B0a)ED
55213155974,

Excess salts

@05 eoren
55213155975.

Compost

S’DEB‘ET’-%:
55213155976.

Question Number : 45 Question Id : 55213114256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The concentration of CO, in the atmosphere is kept in balance through

FES808® CO,MEEn Jseomr ¢oid
Options :

~0O, fixation i photosynthesis

C
88coa2y HodmiS (Sae® CO, P
55213155977. ]

CO, release 1n respiration

TR8avs® CO,Dtbte
55213155978.

(2]

Carbon cycle

55 S50
55213155979. =



Degradation of organic matter

Eolellaless sa‘mﬂg QPR

e

55213155980.

Sub-Section Number : 10
Sub-Section Id : 5521311256
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213114257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT an mtegral part of formal education system of our country

HITEER Fodmrad A Jue; 3 —o@” wodmyio R

Options:
Elementary Education
QOoert DS
55213155981. =
Primary Education
[@rE0E D
55213155982.
Pre-Primary Education
PO (PGS
55213155983.

Higher Education

-ru M) \:qu“
55213155984.



Question Number : 47 Question Id : 55213114258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Approach towards Higher Education should be

Options :

Employment oriented

& vrrldo
55213155985.

Imparting knowledge

DRI B D0z woliodto
55213155986.

Charity oriented

o @Eﬂ;c‘;ﬁo
55213155987.

Investment in human resources

IPRD SdBedt enad
55213155988.

Question Number : 48 Question Id : 55213114259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The mamn aim of vocationalisation of education is:

S8 N (AeS AR
‘“&:E% Q.-'Dﬁa kE‘JI.?I o é‘EUEJD

Options :

Preparing students for a vocation mstead of knowledge

DLXAH BOPRO DHed WD HEES® Jodhed Tabio
55213155989. ' '

Converting liberal education into vocational education

a8 DD 5‘3@@ D eGS0
55213155990. -

Giving more importance to vocational than general education

RS QST @ DD 250D (EPTERrSER BErto

o = T ) 5 < G

55213155991.

Making liberal education skill based and field experience based

&IPS AL Jyeese iy g urld Y™ Erfovvilevimlovsiate)
55213155992.

Question Number : 49 Question Id : 55213114260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education is best served by focusing on

Dendie A oFo LD YR Solsbosto oo JBTWeEol
] ) bl [ =¥

Options :
Cultural practices prevailing in the society.
Qaraod® &F) Arok) 85 emrrred ardodto
55213155993.

55213155994.



Norms of conduct laid down by a social group.
2.8 el H%o E-':-E:I 2088 Adhadren ardodto

Concern for human values.

2wt

S Dende D& wolPER

55213155995.

Religious and moral practices and instructions.

SDENBIN DA FSS5DER eororen 0O JVredden
55213155996.

Question Number : 50 Question Id : 55213114261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Indian Parliament can legislate on matters listed m the State list;

68 RG0S5 TEpdE o0 eore SQIE° Ko o ©0¥oR ApHd o TSR,
Options:

With the prior pernn'ssi-:-u t:-f the President.

TP(5308 Swoliy) ©9dnnss”
55213155997.

Only after the constitution is amended suitably.

NS DSorre orerroll B98I Sond SRS
55213155998. = -

In case of inconsistency among State legislafures.

m@a: Sepe S edoagds e9HW
55213155999. )

55213156000.



At the request of two or more States.

Both Tor wodST) QXN TEre Dgsy W

= - =
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Group Marks : 200
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Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 5521311257
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213114262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following physical quantities in List - I with their dimensions m List - II

List-1I List - IT
1. Work a. MLT?
2. Power b. MLIT!
3. Momentum c. MLT?
4. Modulus of elasticity d. MLI!T!
5. Dynamic viscosity e. MLIT?
Options :

55213156001, 1-C: 2-a, 3-d, 4-, 5-b

55213156002, 1~& 2, 3-d, 4-e, 5-b

55213156003. 1-c, 2-a, 3-e, 4-b, 5d

55213156004. 1-d, 2-e, 3-b, 4-a, 5-c

Question Number : 52 Question Id : 55213114263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If a= i4+] =k ; b= i-}+k; c= -k, then the value of aX(hXc) is (here a,b,c are vectors and i,j,k are unit vectors)

Options:

I—j+k
55213156005,
55213156006, 2 ~ 2|

3 —j +k
55213156007.

%+ 2 —k
55213156008,

Question Number : 53 Question Id : 55213114264 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

1 i
Eigen values of { J are

—
Options :

55213156000, T 1 and-1

55213156010, 0 and

55213156011, 0 @nd 2

1and 1
55213156012.



Question Number : 54 Question Id : 55213114265 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true for dimensional analysis

.. The functional relation between dependent and non-dependent variables can be expressed into
dimensionless terms by dimensional analysis

ii.  Inmodel testing, it reduces the variables into three numbers

iil. Itit used to change the theoretical equation into dimensionless form

Iv. [t helps to convert the units of quantities from one system to another system

Options :

I, it and iii
55213156013.

ii, iii and iv
55213156014.

I, il iv
55213156015. '

i, ii, iii and iv
55213156016.

Question Number : 55 Question Id : 55213114266 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



-2
L]
o

The eigen values of the matrix [ 3 2 0 |are
0 0 1
Options :
5.2.-2
55213156017.
-5.-1. -1
55213156018.
5.1,-1
55213156019.
5. 1.1
55213156020.

Question Number : 56 Question Id : 55213114267 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two matrices 4 and B are said to be similar if B =P 4P for some invertible matrix . Which of the
following statements 1s NOT TRUE?

Options :

55213156021, Dctd= Dets

55213156022, 11ace of A =Trace of B

55213156023, A and B have the same eigenvectors

55213156024, A and B have the same eigenvalues



Question Number : 57 Question Id : 55213114268 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A 3x3 matrix has elements such that ifs trace 1s 11 and its determinant 1s 36. The Eigen values of the
matrix are all known to be positive mtegers. The largest exgenvalues of the matrix is

Options :
55213156025. 18
12

55213156026.

9
55213156027.

6
55213156028.

Question Number : 58 Question Id : 55213114269 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following represents laplace transform of Sinh (a t)

Options :

55213156029.

55213156030, S ta?



5]
]
|

=]

55213156031.

s2+a?

55213156032.

Question Number : 59 Question Id : 55213114270 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If r(n+1)=/,” x"e *dx then

Options :
r(n+1)=nr(n)
55213156033.
r(n)=nl
55213156034.
|
r(n+1)==
55213156035.
r(3)=3!
55213156036.

Question Number : 60 Question Id : 55213114271 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The Fourier transformation of the function f(x) is F(k).Then Fourier transform of % Is

Options :

dF (k)
55213156037. 2K

-kF(k)
55213156038.

ikF (k)
55213156039.

[ F(k) dk
55213156040.

Question Number : 61 Question Id : 55213114272 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

At what speed should a clock be moved so that it may appear to lose 1minute in each hour

Options:

18¢
55213156041.
55213156042, L °C

0.18¢
55213156043,

0.018c¢c

55213156044.



Question Number : 62 Question Id : 55213114273 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If the Hamiltonian does not depend on time explicitly then.

Options:

the Lagrangian 1s constant
55213156045. N

the Lagrangian cannot be constant
55213156046. N

kinetic energy is constant
55213156047.

potential energy is constant
55213156048.

Question Number : 63 Question Id : 55213114274 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
The product of generalized coordinate and 1ts conjugate momentum has the dimensions of

Options:

ENETZY
55213156049. =

force
55213156050.



linear momentum
55213156051.

angular momentum
55213156052.

Question Number : 64 Question Id : 55213114275 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The homogeneity of time leads to the law of conservation of

Options :

linear momentum
55213156053.

energy
55213156054.

parity
55213156055.

angular momentum
55213156056.
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If the Lagrangian (L) for the simple pendulum deseribing its motion is given by

| . . . .
ko ml8~ - mgl(1 — cosf). the generalized coordinate used in the above expression as

e



Options :

0
55213156057.
1
55213156058.
m
55213156059.
g
55213156060. -
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. - ]. e Bl I i} i) -
For a system with Lagrangian L= ?(A'E +y7) e (0& (x"+37)+aw: o>0 what should be the value of

@ to have two normal modes of vibrations

Options:

o< Va
55213156061.

o = \/a_
55213156062.

wo= Va
55213156063.

Ol = VrlfT

55213156064.



Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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The Hamiltonian can be expressed in terms of Lagrangian using the following formula

Options :
n
H= Z Prdr —1L
k=1
55213156065.
n
H= Z Pra,—L
=
55213156066. :
oL
="
Opy
55213156067.
oF
H-Lt—
ot
55213156068.
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It a generalized coordinate g does not occur explicitly in the Lagrangian function.



Options :

The corresponding momentum (px) is constant of motion

552131560609.

gk1s constant
55213156070.

Hamiltonian 1s constant
55213156071.

Pk 1s cyclic coordinate
55213156072.
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If pr 15 the generalized momentum and ¢ 1s the associated conjugate coordinate, then the product pigs
has the dimension of

Options:

energy
55213156073.

linear momentum
55213156074.

action
55213156075.

power

55213156076.
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Two small identical conducting spheres have changes of 2.0 X 10-9 C and 0.5 X 10-9 C respectively.

; G l :
When they are placed 4 cms apart, the force between them is (given ——=9X10°)

4re,
Options :
562 SN

55213156077, 00023 X 107N

5 625 SN
55213156078, - 0> = 107N

i '.}- _5 =
55213156079, 2020 = 107N

562.5X 10° N
55213156080.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
The energy of a uniformly changed spherical shell of total change ( q ) and radius (R) 1s

Options :

1/(8nten) q"2/R
55213156081.

1/(8mep) q"2/R"2
55213156082.



1/(87 €0) a/R
55213156083,  o% €0 4

1/(87 €0) Vg/R
55213156084.
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The speed of electromagnetic radiation 1s independent of

Options :

SR
55213156085, " Ave length

55213156086, *mpliftude

55213156087. Time period

Frequency
55213156088.
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Gauss’s law can be applied to

Options:



Plane surface

55213156089.
56913156090 Curved surface
Any surface
55213156091.
Closed surface
55213156092.
Sub-Section Number : 2
Sub-Section Id : 5521311258
Question Shuffling Allowed : Yes
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The potential inside a charged hollow sphere 1s
Options:

ZEero

55213156093.

same as that on the surface
55213156094,

less than that on the surface
55213156095.

All the above
55213156096.

Sub-Section Number : 3



Sub-Section Id : 5521311259

Question Shuffling Allowed : Yes
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Equation V2V = -p/€ is called the

Options :

55213156097. Poisson’s equation

55213156098. Laplace equation

Continuity equation
55213156099.

Stokes equation
55213156100.
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The inconsistency of continuity equation for time varying fields was corrected by Maxwell and the
correction applied was to law as

Options :

Ampere’s law. cD/ct

55213156101.

55213156102.



Gauss’s law. ¥

Faraday’s law. cB/ct
55213156103.

Ampere’s law, cp/ ot
55213156104.
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The photoelectric effect explains:
Options:

55213156105, The wave nature of light

The particle nature of light

55213156106.

The wave properties of an electron
55213156107.

The particle properties of an electron
55213156108.
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Which of the following operators 1s Hermitian?

Options :
55213156109, 9"
29,2
55213156110, O (9%
55213156111, 4 /9%
d.’r:_-'dx.’:
55213156112.
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Which one of the following objects moving at the same speed is associated with a greatest wavelength?

Options :

Neutron
55213156113.

Electron
55213156114.

Tennis ball
55213156115.

Bowling ball
55213156116.
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Which statement below 1s true with regard to Bohr's model of the atom?

Options :

The model accounted for the absorption spectra of atoms but not for the emission spectra.
55213156117.

55213156118, The model could account for the emission spectrum of hydrogen and for the Rydberg equation.

55913156119 The model was based on the wave properties of the electron.

The model accounted for the emission spectra of atoms. but not for the absorption spectra.
55213156120.
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The letter designation for the subshell is based on

Options:

The value of the orbital angular momentum quantuum number
55213156121.
55213156122, The value of the principal quantum number

55213156123, The value of the magnetic quantum number. ny



55913156124, The value of the spin quantum number. ms
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For the parity operator P. which of the following statements i1s NOT true?

Options :
55213156125, £ 1
it L
55213156126, £ -1
55213156127, £ 1
pi-p!
55213156128.
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If w(x.1) is the solution of Schrédinger’s wave equation. then |p(x, t)|2dr is

Options :

probability
55213156129.



probability density
55213156130.

current
55213156131.

current density
55213156132.
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Eigen vectors of two hermitian operators having different eigen values are

Options :

orthogonal
55213156133.

parallel
55213156134.

same
55213156135.

null vectors
55213156136.
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Which of the following statements is incorrect about Brownian motion?

Options :

The lower the viscosity of the liquid or gas. the greater is the motion.
55213156137.

The smaller 1s the particle size. the greater 1s the motion
55213156138.

The motion 1s dependent on the mechanical vibration
55213156139.

The motion 1s continuous. eternal. irregular and random
55213156140.
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In the case of Bose-Einstein condensation

Options :

Number of particles decreases in lower energy levels at low temperature and high pressure
55213156141.

Number of particles increase in lower energy levels at low temperatures and high pressures
55213156142.

Number of particles decreases in lower energy levels at high temperatures and low pressures
55213156143.

Number of particles increases in lower energy levels at hugh temperatures and low pressures
55213156144.
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A particle of unit mass is executing simple harmonic vibrations, then the trajectory in phase space is

Options :

Ellipse
55213156145.

Hyperbola
55213156146.

Parabola
55213156147.

Circle
55213156148.
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Which of the following statements is correct in equilibrium?

Options:

Number of microstates and entropy are multiplicative
55213156149.

Entropy and number of microstates are additive
55213156150.

Entropy 1s additive whereas number of microstates are multiplicative
55213156151.



Entropy is multiplicative whereas number of microstates are additive
55213156152.
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If the thermodynamic process remains isothermal as well as isobaric, then which of the following
functions remains constant

Options :

Helmholtz function
55213156153.

Internal energy
55213156154.

Gibb’s function
55213156155.

Enthalpy
55213156156. by
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The internal energy of a real gas depends upon

Options :



Volume

55213156157.

Pressure
55213156158.

Temperature
55213156159.

Temperature and volume
55213156160.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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The probability density of a canonical ensemble

Options :

Depends on temperature
55213156161.

Depends on energy
55213156162.

Depends on energy and temperature
55213156163.

Independent of energy and temperature
55213156164.
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When a metal-semiconductor junction 1s in thermal equilibrium.

Options :

The Fermi levels of the two materials coincide
55213156165.

The Fermi level in the metal 1s higher than that in the semiconductor
55213156166.

The Fermi level in the semiconductor is higher than that in the metal
55213156167.

Surface states do not affect the behavior of metal-semiconductor junction
55213156168.
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Diffusion capacitance in a p-n junction diode arise due to

Options:

Forward biasing and contribution from majority charge carriers

55213156169.

Forward biasing and contribution from nunoritv carriers
55213156170. = =

55213156171. Reverse blﬂ&lﬂg and contribution from majority carriers



Reverse biasing and contribution minority carriers
55213156172.
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A Ge transistor with o = 0.98 gives reverse saturation current Ico = 10uA when used m common base
configuration. When the transistor is connected in common emitter configuration with base current of
0.4mA, then the collector current i

Options:
2.01lmA
55213156173.
20.1mA
55213156174.
55213156175, 1--OmA
10.4mA
55213156176.
Sub-Section Number : 4
Sub-Section Id : 5521311260
Question Shuffling Allowed : Yes
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Which of the following transistor configuration can act as buffer stage?

Options :

Commeon base
55213156177.

Common Emitter
55213156178.

Common Collector
55213156179.

All the above
55213156180.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

5
5521311261

Yes

Question Number : 96 Question Id : 55213114307 Question Type : MCQ Option Shuffling : Yes
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The low frequency and hugh frequency fall in the gain of an RC-coupled amplifier respectively 1s due to

Options:

55213156181.

55213156182.

Increase in the reactance of bypass capacitance and coupling capacitance

Decrease in the reactance of coupling capacitance and bypass capacitance

55213156183, Increase in the reactance of coupling capacitance and decrease in the reactance of bypass capacitance

55213156184.

Increase i the reactance of bypass capacitance and decrease in the reactance of coupling capacitance
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The output of the following circuit is

.......-_i |._

k.
B I \
s YT
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" Mout
— I
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-

L]

Options :
1 rt
Do = - E 0 'L?idt
55213156185.
R (¢
55213156186.
1 pt
55213156187.
t
Vo = - CR [, V;i dt
55213156188.
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Which register bank will come into use when we alter RS0 and RS1 of the PSW register by employing
SETB PSW.3 in 8031.

Options :

Bank 0
55213156189.

Bank 1
55213156190.

Bank 2
55213156191.

Bank 3
55213156192,

Question Number : 99 Question Id : 55213114310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The rate of convergence of Newton Raphson method of solution of transcendental equations is

Options :
55213156103, L0ear
quadratic
55213156194.
cubic
55213156195.
exponential

55213156196.
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In which of the following numerical integration methods. ‘n” the number of ntervals must be multiple of three

Options :

55213156197, Sumpsons 1/3 rule

Trapezoidal rule
55213156198.

55213156199, Simpson’s 3/8 rule

Newton-Coates formula
55213156200.
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Newton Raphson method 1s to be used to calculate cube root of 65. Initial guess is taken to be 4. then
the first approximation 15

Options :

65/16
55213156201.

55213156202.



191/48
55213156203.

193/48
55213156204.
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If C is outer product of a contra-variant tensor A of rank 2 and a covariant tensor B of
rank 2, then rank of tensor C 1s

Options :

2
55213156205,

1
55213156206.
55213156207,

4
55213156208.
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If A and B are real symmetric matrices of order n, then which of the following 1s true



Options :

T

55213156209, ‘>4 =1
A=At

55213156210.

55213156211, ‘B = BA
(AB)! =BTAT

55213156212.
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One dimensional heat conduction equation 1s a

Options :

hyperbolic equation
55213156213.

Parabolic equation
55213156214.

elliptic equation
55213156215.

mixed equation
55213156216.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The value of it where i = V-1 is

Options:
0
55213156217.
e_m."r
55213156218.
w2

55213156219. °©

55213156220.
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If G is a group such that a> = e, for ‘a’ belonging to G then G is a group
Options :
55213156221, “Celian

non-abelian
55213156222,

cycelic
55213156223. -

field
55213156224.
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The solution of the Hamilton-Jacobi equation 1s:

Options :
Hamilton’s principle function which is the generating function of a canonical transformation to
canonical variables that are all constants

55213156225.

Hamilton’s principle
55213156226.

Hamilton's principle function which is the generating function of a canonical transformation to

canonical variables that are all not constant

55213156227.

The time dependent quantum mechanical wave function
55213156228.
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Canonical transformation can often be verified by using a

Options :

Inertia tensor
55213156229.

55213156230.



Lagrange bracket

Generating function
55213156231.

Degenerating function
55213156232.
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Hamilton’s canonical equations of motion are

Options :
. oH . oH
G = . s By —m
CPy Cqy
55213156233.
cH . cH
e L
CP O i
55213156234.
oH . _ cH
55213156235.
cH cH
| Pr= 3
CP Ody

55213156236.
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The incorrect relation for Poisson brackets 1s

Options :
1Z..p.]-0
55213156237,
L0 =
55213156238. l ) FJ;I 0
l’EI‘pI\'J =p:
55213156239.
Z,.p.]
ik ZJLI
55213156240.
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The magnetic field corresponding to vector potential A = ix + jy + kx (where i)k are unit vectors) is

Options:

Zero
55213156241.

mfinity
55213156242, =



ixHytkz
55213156243.

55213156244, - 17
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Two electromagnetic waves are given by E=1 Eqcos(wt) and Ey=) Eqcos(wt+0). where o 1s angular
frequency and 6 1s phase difference (1 and j are unit vectors). The mtensity of the resultant wave due to
the interference of these waves 1s

Options :

Zero
55213156245.

EDED
55213156246.

" o Fe)

g0 Eo” cos“(0
55213156247, = © (0)

g0 Eo? sin?(8)
55213156248.
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For a scalar function @ satisfying Laplace equation. V¢ has



Options :

Zero curl. non-zero diT.'El'gEIlCE

55213156249.
Zero curl, zero divergence
55213156250. N
55913156251 100" Zero curl, zero divergence
non- Zero curl. non-zero divergence
55213156252.
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For a plane electromagnetic wave propagating in an isotropic non-conducting medium (free space)

propagation vector and poynting vector have

Options :

Same direction
55213156253.

opposite direction
55213156254.

same magnitude
55213156255.

zero magnitude
55213156256.
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Poission equation is valid for

Options :

Scalar potentials only
55213156257.

Both scalar and vector potentials
55213156258.

vector potentials only
55213156259.

when charge density is zero only
55213156260.
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Which of the following relations 1s true for Pauli matrices ox. oy and oz

Options :

0,0y = 0,0,
55213156261.

0,0y = 0,
55213156262.

0,0, =i0,

55213156263.



0,0, = —0,0,00
55213156264.
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In quantum mechanical scattering the scattering amplitude has the dimensions of

Options :

55213156265, | €
lenzth

55213156266. =
frequency

55213156267. :
Area

55213156268.

Question Number : 118 Question Id : 55213114329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is a first order differential equation

Options :

Klein-Gordon equation
55213156269.

55213156270.



Schrodinger relativistic equation

Dirac equation
55213156271.

Inhomogeneous wave equation
55213156272. "
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- hE : s i g .
If s the spin of electron and p 1s its momentum. the helicity of the electron is

Options :

X+p
55213156273.

ZXp
55213156274.
55213156275, =P

X/p
55213156276.
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According to the Dirac theory of relativistic quantum mehenaics, which of the following is not aconstant of motion

Options :

55213156277. £
J

55213156278.

55213156279. P

55213156280.
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Which one of the following is a first order phase transition?

Options:

Superconducting to normal state
55213156281.

Normal liquid Helium to superfluid liquid Helium
55213156282.

Ferrromagnetic to paramagnetic
55213156283.

Vapourisation of a liquid at boiling point
55213156284. -
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For Bose- Emstein condensation (T< Tc ) pressure varies with temperature as

Options :
55213156285.
Pa T
55213156286.
55213156287.
=0
55213156288.
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The one-dimensional Ising model 1s a chain of N-spins. each spin interacting only with 1ts
two nearest neighbors and neglecting external magnetic field (H). the energy of the system 1s

Options :
E .
NE CDTI‘L(E}
552131562809.
P
-NE ranh(ﬁj
55213156290.

55213156291.



E
- o (2 i 1 —
NkT log (2 C osh{ijj

o hE
-NE Cot- (—)
kT

55213156292.
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Which of the following physical quantity 1s intensive variable?

Options :

Pressure
55213156293.

Entropy
55213156294. :

Volume
55213156295.

Energy
55213156296.
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In Gibbs paradox. two equal volumes of the same gas are at the same temperature and pressure and
contains the same number of molecules, then the total change m the entropy of the system



Options :

55213156297, €10

2NKgloge2
55213156298.

2Ksloge2
552131562909.

Never changes
55213156300.
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Transition of anomalous Zeeman into normal Zeeman effect 1s called

Options:

Stark effect
55213156301.

Lamb shift
55213156302.
55213156303. Raman Effect
55913156304, Lachen Back effect

Question Number : 127 Question Id : 55213114338 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Visible region Optical absorption of a material 1s due to

Options :

atomic transitions
55213156305.

molecular transitions
55213156306.

electronic transitions
55213156307.

nuclear transitions
55213156308.
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NMR can be explained using

Options :

Newtons equations
552131563009.

Bloch's equations
55213156310.

Deslander's table
55213156311.



Briett's Scheme
55213156312.
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In vibrational spectral of a diatomic molecule if AJ=J'- J=1 then the resulting transitions belong to

Options:

P-branch
55213156313.

R branch
55213156314.
55213156315, Q branch

S branch
55213156316.
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In electronic transitions, the bands having constant value of Ay=y'-y' where v'final state frequency
and V"' 1s nitial state frequency. are called

Options :

progression
55213156317. N



scquence

55213156318.

series
55213156319.

branch
55213156320.
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Hydrogen atom does not emit X-rays because

Options :

its energy levels are too close to each other
55213156321. =

its energy levels are too far apart
55213156322. o
5013156303, 1t 1S 10O small 1n size

it has single electron
55213156324. =
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What is the frequency of an IR photon with a wavelength of 1.2 X 10° em? ¢ =3.00 X 10° m/s,

Options :
il r 6
55213156325, -0 % 107 Hz
25X 101% Hz
55213156326.
55213156327, 000 HZ
25X 101%H7
55213156328.
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The Stokes shift in Raman corresponds to energy being transferred a vibrating bond.
and the Anfi-Stokes lines correspond to energy being transferred the bond.
Options :
trom. to
55213156329.
to, from
55213156330.
£5913156331. elastically to. in elastically from
i elastically to. elastically from

55213156332.
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Super fluidity means

Options :

Fluid flow with zero viscosity that occurs in 1sotopes of He at all temperatures
55213156333.

55213156334, Fluid flow with maximum viscosity m Hg

55213156335. Fluid flow with minimum viscosity in isotopes of He -]

Fluid flow with zero viscosity in 1sotopes of He when reduced to cryogenic temperatures
55213156336.
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High temperature superconductors and low temperature superconductors respectively are

Options:

Metal and semiconductors
55213156337.

Ceramics and metals
55213156338.

55213156330. Metals and ceramics



Ceramics and semiconductors
55213156340.
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Itk is a wave vector and E 1 the energy then the effective mass of the electron moving in a crystal is given by

Options :
fi
dE [ dk
55213156341.
dE | dkh
fi
55213156342,
ﬁ]
diE/di?
55213156343.
d’E | dic
B2
55213156344.
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The ratio of thermal conductivity to electrical conductivity for all metals at a fixed temperature
according to Wiedemann —Franz law

Options :
55213156345, Remains constant
Varies
55213156346.
55213156347, 2°1°
Infinity
55213156348. 3
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In low temperature variation of specific heat of metals
Options :

55913156349 Electronic part is linear and lattice part is quadratic

Electric part is cubic and lattice part is linear
55213156350.

Electronic part is linear and lattice part 1s cubic
55213156351.

Electric part is quadratic and lattice part is cubic
55213156352.
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Which of the following is correct in case of crystal momentum

Options :
55913156353, Momentum of the crystal
Momentum of the electron in the crystal
55213156354. -
55913156355, Momentum of phonon in the crystal
Momentum of the free electron
55213156356.
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The nuclear magneton is about --------- P ssssiasng than the Bohr magneton
Options :
55213156357, 1000- smaller
3 sl
55213156358, 2000. smaller
1000. o

55213156359.



2000, bigger
55213156360.
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Choose the correct answer for the following statements,

Statement-I: A free neutron (neutron outside nucleus) under goes a decay with a half-life of about 12 minutes
Statement-IT: No decay of free proton has so far been observed.

Options :

Both statements I and IT are correct.
55213156361.

Both statements I and II are incorract.
55213156362.

Statement I is correct whereas statement II 1s incoirect.
55213156363.

Statement I 1s incorrect but statement II is cormrect.
55213156364.
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In the deuteron. the probability of finding the neutron and proton within the range of nuclear force 1s about

Options :

10%

55213156365.



arny
309

55213156366.

T I];’
55213156367, 07°

I]_,,'

55213156368, 100 °
Sub-Section Number : 6
Sub-Section Id : 5521311262
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The liquid drop model could not account for the

Options :

Nuclear fission
55213156369.

variation of nuclear mass with atomic number and mass
55213156370.

Discontinuities in binding energies at the magic numbers
55213156371.

all the above
55213156372.
Sub-Section Number : 7

Sub-Section Id : 5521311263



Question Shuffling Allowed : Yes

Question Number : 144 Question Id : 55213114355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The contribution to the binding energy of a nucleus by the pairing energy term is proportional to

Options :

A?3
55213156373.

Z(Z-1)/ A3
55213156374,

(A=27P A
55213156375.

A- 34
55213156376.
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The probability. 4 . that nucleus decays with the emission of alpha particle s

Where f represents the probability of finding an alpha particle at the potential barrier with
kinetic energy Ey and P represents the probability of its tunnelling through the barrier.

Options :

£ P
55213156377.



= 1P
55213156378.

A=P/H
55213156379.

55213156380.
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Nuclet having magic number of protons or neutrons show - -------- electric Quadrupole moment.

Options :

Almost zero
55213156381.

negative
55213156382. -

More than one
55213156383.

positive or negative
55213156384.
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Correct Marks : 2 Wrong Marks : 0

Assertion (A): Al the nuclear mteractions are considered to be mvariant under the three combined operations;
charge conjugation, parity and time reversal
Reason (R): The violation of any one 1s compensated by the combined effect of remaming two.

Options :
55213156385 Both (A) and (R) are incorrect.
Both (A) and (R) are correct.
55213156386.
(A) 1s correct. but (R) 1s incorrect.
55213156387.
(A) 1s correct whereas (R) 1s not properly explained.
55213156388. E
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According to quark model. every baryon 1s made up of quarks.
Options :
1
55213156389.
2
55213156390.
55213156391, °
4

55213156392.



Question Number : 149 Question Id : 55213114360 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Particles that participate in the strong interactions are called
Options :

Neutrinos
55213156393.

hadrons
55213156394,

leptons
55213156395.

photons
55213156396.
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Lepton number 1s

Options :

Violated in weak interactions
55213156397.

strong interactions
55213156398.



conserved in all inferactions
55213156399.

conserved in weak interactions
55213156400.



